| Efficiency vs Dxy |
> 0.1
<

5 S
L e S A
< A T T
O e
@ A T T
KT O e A A S S S S S
© : : : : : : : : :
Q.08
oosp ol
T L T
0.03

.................................

0.02
0.01
0

s e

Ratio

0.8 A

oo ALIEE
~25-20-15-10 -5 0 5 10 15 20 25
TP dxy (cm)

_,_ ..
—_—— ]
Pt T

—=— DQM_mKFIt_TTbase
— —e— DQM_mKFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
| Efficiency vs Dz | —— DOM_mkFit_TT_baseline_6iter

0.1 —+— DQM_mKkFit6_TT_retrainOldFiles125_v2_prelimWP_epoch2_wSQCD
N U, ; T X T
> : :

9.09
Py
os
(&)
£0.07
()
0.06f |-+
0.05EHH- 41yt
o0.0attHTHARHIT

0.03}+

aoz}ayn@_.;
001§-.n;m
o

o.8[H L

Ratio

»

i

0.6
-30 -20

50" 30
TP dz (cm)



	Contents
	Page 1


